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kaneske Ich habe SSDT-BASIS noch mal angeschaut

Weil EC unter PC00.LPCB steht, normalweise sollte unter _SB.PCI0 sein

1https://www.hackintosh-forum.de/forum/thread/42354-opencore-sammelthread-hilfe-und-
diskussion/?postID=545272#post545272

https://www.hackintosh-forum.de/user/2017-kaneske/
https://www.hackintosh-forum.de/forum/thread/42354-opencore-sammelthread-hilfe-und-diskussion/?postID=545272#post545272
https://www.hackintosh-forum.de/forum/thread/42354-opencore-sammelthread-hilfe-und-diskussion/?postID=545272#post545272

